Previous assignment (4.5 part 1) 10

In—
19. CHECK ANSWER:  t= 3
12In1.025
In E
book answer > t= 3
41
12In— <They converted the

40 decimal to a fraction.
(Not necessary.)




Previous assignment (4.5 part 1)

25. CHECK ANSWER: X = —14

log3

&o0g0.1 can be

book answer > t= 1410g0.1 simplified further.
log 3 (which will be

required on

the unit test)




Yesterday’s assignment:
Show work! Clearly show all steps.

31. 4" +2"* =50

¢ |solate exponential term

2
ZU + Z.l+ T =50 e Apply In or log to both
sides of the equation
L)((/ + [ > —
2 Z 2 O e “bring down” the
ZLX ( }> - 5p [o % exponent
RX: 3 e Solve for x




Notes: 4.5 (part 2)

Reminder: ¢ ©f
log0 = no solution (because 10" =0)

log(neg #) = no solution 10" = neg #
In0 = no solution e’ =0

In(neg #) = no solution ¢ =neg#



Notes: 4.5 (part 2)

Technigues for solving equations:

e Use equal bases on both sides.
e Apply laws of logarithms.

e Factor quadratic equations
using the FOIL method.

e Factor the GCF (greatest
common factor).

o Apply Zero Product Property.



Notes 4.5: Example

2
Solve for x: xe” +2xe =15x
2
Set equal to 0 X Y+Z><6X—’5X =0
Factor GCF ( 2y N
+ — =

Factor using FOIL X (¢ Le™ -~ 6) O

X _
Solve using Zero X @’ ;5>@¥+5\,> = O
Product P t ~

roduct Property X120 ex*5~0

Check for extraneous oy =3 X- -5
answers (no solution) IV)(— X
/V)ﬁ5 A g’ Wt



4.5 (part 2) CHECK EVEN ANSWERS:

40. x =1In3 46. x=-1, x=-2

_1+45 1

48. x= S7. x =—— & preferred form
2 100

book answer: x =0.01



